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Spring '06/MAT 145/Worksheet 8 Name: b A i o~ Show all your work.

1. (6pts) Solve the triangle: b=3, ¢ =8, o = 37°.
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2. (8pts) Consider the pictured trapezoid (top and bottom sides are parallel).
a} Find the length and angle to the horizontal of the left slanted side.
b) Find the area of the trapezoid.
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3. (8pts) Solve the triangle: a =4, b= 7, ¢ = 6. Then find its area in two ways: by using
one of the angles and by using Heron’s formula. Did you get the same answer?
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4. (8pts) In attempting to fly from Chiecago to Louisville, a distance of 330 miles, a pilot

took a course that was 10° in error.

a) If the aircraft averaged 220mph and if the error is discovered after 15 minutes, through
what angle should the pilot turn to head toward Louisville?

b) What new average speed should the pilot maintain so that the total time of the trip is 90
minules?
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